
48002150
Checklist / Manual de Montagem - Bull bar 
W/fog lights - Toyota land Cruiser 200

Checklist / Fitting Instructions - Bull bar 
W/fog lights - Toyota land Cruiser 200

Despiezas / Instrucciones de montaje -  

3h x 2

x1

47001554

1 x1

47001553

2 x1

47001552

3 x1

47001540

4

x1

47001539

5 x1

47001538

6 x1

47001537

7 x1

47001541

8

x1

47001510

9 x1

47001509

10 x1

48002121

11 x1

48002191

12

x1

48002192

13 x2

46005670

14 x1

46005663

15 x1

46005662

16

x1

46005661

17 x1

46005507

18 x1

46005506

19 x12

45000775

20

Prf. Cab. Red. M6x20

x4

45000069

21

Prf. Cb. Sx. M10x35

x7

45000067

22

Prf. Cb. Sx. M12X35

x2

45000058

23

Prf. Cb. Sx. M8x20

x4

45000048

24

Anilha M8x16x1,6

x7

45000042

25

Anilha M12

x8

45000039

26

Anilha M10

x2

45000018

27

Fêmea Freiada M8

x10

45000017

28

Fêmea Freiada M10

x12

45000010

29

Anilha Aba Larga M10

x6

45000007

30

Prf. Cb. Sx. M10x30

x1

46005518

31

Toyota  Land cruiser 
200 - Standard (2012- 
)

Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt1/7 27-01-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt2/7 27-01-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt3/7 27-01-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt4/7 27-01-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt5/7 27-01-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt6/7 27-01-2015



Tel: (+351) 256 838 300-7  |  Fax: (+351) 256 838 305/6  |  E-mail: geral@afn.pt http://www.afn.pt7/7 27-01-2015


